Al A g o] Zol7t ZFZE 5em, 5em, Sem Q1 A-STEA Q] T ZHA 9
Zdolet, Al mA g o] Ao|7} Z+Z} 1em, 4em, 5em Q1 2S5 HA| 9] Tf
2k 9] Zdolg atef| 2 F5HH?

® 4+vV3cm, V4l cm ® 5v3cm, V42cm
® 6+v3cm, V40 cm @ 543cm, V4lcem

® 542 cm. V42 cm



2.

O TRolA x of 27




3. o IdF o] /B = 90" 21 AABC |4 AD =
5cm, BD = 3cm & o, BC ¢] Zo]x?

@ 5
434 18
®—5- O3




the 183} 2ol AL ABCD 9] U A
Ho]l EF = AD , BC ¢ Bals}}, Axo !

A3} A Atol o] A7} Zhzt oS Tt !

S, x 9] 3He? B
D 5 @ 33 ® V30 C
@ 42 ® 37

m

D

N
lo



3 we] Aolrk 6 91 HAZPE WH O 2 5,
o @A al o] Zo]7} 1291 HAIZFE ] ko] 42
Fot?

® h=3vV1dcm @ h=2V1ldcm

® h= Vldcm @h:gcm
V14

5o

® h=




o2 239 FgHAlE AB = 3V3, BC = 23,
ﬁ— 50|71, AG = A.mA < tjztAolct. H

+ A A °llA G7HA] AsA o] S wet 4
UH 2|27t = A 5t= BF 919 A wf, aAPAG
o] =d|¢] 4ol & Fstofzt

s
ct




